
QUANTITY PART DESCRIPTION

1 TOP PLATE – 3MM CARBON FIBER
1 BOTTOM PLATE – 2MM CARBON FIBER 
1 ELECTRONICS ACCESS COVER PLATE – 1.5MM CARBON FIBER 
2 PROP GUARD TOP – 2.5MM CARBON FIBER 
2 PROP GUARD BOTTOM – 2.5MM CARBON FIBER 
2 SIDE JOINT – 2MM CARBON FIBER 
1 FRONT JOINT – 2MM CARBON FIBER
1 REAR JOINT – 2MM CARBON FIBER
2 CAMERA CAGE SIDE PLATE – 2MM CARBON FIBER
1 NOT A HEAT SINK – 1.5MM CARBON FIBER ***IF STANDARD OPTION IS CHOSEN***
1 HEAT SINK – 1.5MM SILVER ALUMINUM ***IF ALL WEATHER OPTION IS CHOSEN***
1 ALL WEATHER SKIRT – 3D PRINTED TPU ***IF ALL WEATHER OPTION IS CHOSEN***
2 STRAP COVER -  3D PRINTED BLACK PLASTIC ***IF ALL WEATHER OPTION IS CHOSEN***
12 #2 x 1/4” FLAT HEAD SELF TAPPING SCREW ***IF ALL WEATHER OPTION IS CHOSEN***
1 M4 X 8MM BUTTON HEAD SCREW - STEEL ***IF ALL WEATHER OPTION IS CHOSEN***
4 LANDING GEAR – 3D PRINTED TPU
2 XT60 PANEL MOUNT PLUG + INCLUDED M2.5 MOUNTING SCREWS
14 M3 X 20MM KNURLED STANDOFF – BLACK ALUMINUM
10 M3 X 22MM KNURLED STANDOFF – BLACK ALUMINUM
4 M3 X 8MM SPACER KNURLED (UNTHREADED) - ALUMINUM
12 M3 X 10MM SPACER KNURLED (UNTHREADED) - ALUMINUM
2 VELCRO STRAP 16MM X 280MM LONG
16 M3 X 6MM SOCKET HEAD SCREW - STEEL
18 M3 X 8MM SOCKET HEAD SCREW - STEEL
16 M3 X 20MM SOCKET HEAD SCREW - STEEL
8 M3 X 8MM BUTTON HEAD SCREW - STEEL
8 M3 X 8MM FLAT HEAD SCREW - STEEL
8 #4 x 1/2” SELF TAPPING SCREW - STEEL
4 M3 X 25MM PHILLIPS HEAD SCREW – NYLON PLASTIC
4 M3 NUT – NYLON PLASTIC
4 M3 X 3MM LONG SLEEVE  - NYLON PLASTIC
4 M3 X 6MM LONG SLEEVE  - NYLON PLASTIC


